
©R K2z0g1t3K jK4uMtQaY gSForfmt1wva7rAeC ULiLoC2.h 5 XAeljl8 Tr1iQg2hRtPsk ArVeqsnevrpvZeNdB.9 K YMQaQdqe6 YwFiuthhe tI NnYf2i7nMiatVe3 2ARllgIeVbnrOae N26.h Worksheet by Kuta Software LLC

Algebra 2
ID: 1
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  Period____Date________________
©V J2p0n1G3U EKuu6taaM VS7onfOtfwSaHrvet CL6LtCk.l J uAhlDl T ar3i AgWh8tjsx QrMeOsZeWrmvnehdx.j
Assignment

Solve each system by substitution.
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20)  
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Solve each system by graphing.
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26)  
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Answers to Assignment (ID: 1)

1)  (3, 1) 2)  (1, 1) 3)  (0, −8) 4)  (−2, 8)
5)  (2, 3) 6)  (0, −3) 7)  (2, −1) 8)  (−3, 5)
9)  (−8, −1) 10)  (−8, 4) 11)  (−1, −8) 12)  (1, −8)
13)  (−7, 2) 14)  (4, −3) 15)  (0, 3) 16)  (−2, −3)
17)  (1, −3) 18)  (−2, −4) 19)  (−1, 5) 20)  (−2, −2)
21)  (−3, −1) 22)  (−2, 2) 23)  (−3, −4) 24)  (3, −4)
25)  (−4, 3) 26)  (2, −3)


